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1 (me/h) 20 <10 <10 P
i s &l (mg/l) 0.5 <0.3 <0.3 &L
BEREAEE (mg) 1 <0.6 <0.6 &L
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it (mg/l) 2 <0.5-0.54 0.51 L
i (mgfl) 2 <1 <1 kL
& (mg/) 5 <0.2 <0.2 L
7 (mg/) 0.05 <0.05 <0.05 kL
2L (me/l) 2 <1 <1 KL
2L (mg/l) 2 <0.4 <0.4 L
&4 (mg/l) 5 <1 <1 L
&t (mg/) 2 <1 <1 Kl




% [ P | A T g F A LY
L/ )

HEER T N

(mg/) 10 <70-17.0 7.0

1 (mg/) 5 <1-38 1.9 KL

& (mg/l) 10 <2 <2 L

=

Aldrin (mg/l) 0.01 <0.01 <0.01 Rl

BHCS (mg/l) 0.01 <0.01 <0.01 Rl

wE S (mg/) 0.01 <0.01 <0.01 Rl

FHRRELHP

* 7L (mg/) 0.1 <0.06 <0.06 &L

e R

1,1,1-= & 4% (mg/) 0.05 <0.025 <0.025 =

‘%E@;"’fn%’

% I GEE (mg/) 0.003 <0.003 <0.003 il

B 1% P e

B TR 4 B L

(pc/l) 10000 <10000 <10000

51226 (pe/l) 30 <30 <30 R

R1-90 (pe/l) 100 <100 <100 Fl
#OE S R WA S S B R B B o B L

P~




B R B

[~ 2P R e

WHOEBGRGE (2 F- - FA 25D

% g PERITLE | T | AR
CRL/F)

(Fh = g @

%k (mg/m’) 30 0.0-7.8 0.1 &L

TE [ (me/m) 200 0.0-123.1 6.3 Rk

B (mg/m’) 60 0.1-40.1 4.4 HL

g (& (mg/m)) 4 0.0-0.1 0.01 kL
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(FJZ &85 5D (mg/m’) 400 54.4 - 2832 126.1 FL

FE SR (mg/m)) 20 0.0-4.8 0.3 Fl
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%k (mg/m’) 10 0.0-0.6 0.1 &L
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g (& (mg/m’) 1 0.00 - 0.04 0.01 kL

PR e
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— " (mg/m’) 50 13-94 4.1 FL

(T HE

AR AN

(') & % HEF D (mg/m) 24 <4.5 <4.5 HL

R AR

()3 (= 5 2 B

(mg/m’) 18.8 <1.1 <1.1 FL

Pt () PRE 1) (mg/m”) 37.5 <24 <2.4 Rl

BEE ()R BT (me/m’) 5.5 <0.182 <0.182 HL
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& (ppm) 0.5 <0.5 <0.5 P
%< (ppm) 0.1 <0.02 <0.02 Rk
S E (ppm) 10 <0.5 <0.5 e
S (ppm) - <0.5-35 1.2
1 (ppm) - <0.5 <0.5
%1 (ppm) - <l-6.1 1.4
& (ppm) - <0.5-42 1.4
%\%l\é_‘lz‘l\%j{lé[fj
MLEN (ppm) 25 <2.5-9.0 4.5 P
% (ppm) 20 <1 <1 P
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